COSE21 3: Data Structure

L ecture 9 review
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0|7l BiHS AVLEZ| 2 BHS 7|

procedure sortedArrayToAVL(arr, first, last)

1234567 —>

arr
(M )

first element index : 0 =———>

last element index :6 =————>

end procedure




0|7l BiHS AVLEZ| 2 BHS 7|

procedure sortedArrayToAVL(arr, first, last)
— if start > end then
1234567 —> return NULL
arr end if
CECEE mid « first + | (last - first)/2 |
root < allocateNode()
root.key <« arr[mid]

| | root.left < NULL
first element index: 0 —> root.right < NULL

root.left < sortedArrayToAVL(arr, first, mid - 1)
root.right < sortedArrayToAVL(arr, mid+1, last)
last element index :6 ™ | return root

end procedure




